BRHEETEFOMGEREER GEREXLF1—L4) 1/4
REHR ¢ ERRTE12ZBT1H (N) ~FR27F12828H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
(IEEES FEF X BB LT AHHET 14H(B) 17.0 7.4
2 |HE 7Io5F ESLUHEMETLLS [ 10H(K) T 8.2
e ESES Hh7 BB LT AHRET 113 (£) T 6.3
A EES N7 EBILUHmEAHBIERE| 8H(N) A& 10.2
5 [¥F% HRF+ TEBAEN 16H (k) A& 7.3
EES ARF BT ZIERT 45 8H (N) A& 11.8
[EES ARF 8L/ R 21H(H) A& 8.2
8 [BE FrRY LT 14H(B) T 12.9
9 [BE FrRY L EHATET L 7H(H) T 13.1
10 [B$3% FrRY L EHATET L 7H(H) T 11.3
(EES FrRY = 15H (N) T 5.8
12 |BE HIYNAE FEEHFTH 8H (N) T 8.4
13 |5E Yh1E LT ERETZHEF | 8H(N) A& 9.8
14 |5 Yh1E 8L AT BT LA TH(H) A& 8.9
(EEES Hh1E LU= A LLBT 1MH (&) T 10.1
16 |BF% I AL E 8L 22H(N) L 10.1
HEES JvHAE BBLLImh A~ ET 24H (K) IS 4.8
FEES EVE L= HET 9H (7k) IS 14.9
19 |5FE =V LU 3H (K) A& 8.4
IEES =V BLLUTERETZHEF | 8H(N) A& 8.2
AEES =V 8L ERET Z H%F | 10H (K) A& 9.0
22 |HE =V BB LT AHRET 2H (7K) A& 6.6
23 |HE =V BB LT AHRET 3H (K) A& 7.0
EES ERt=V BB LT AHRET 148 (B) EN Y 7.2
25 |BFE =V BB LT AHRET 22H(N) A& 5.6
26 |Fp% ERE=V L EHATET L 4H (£) L 6.0
YIREES ERt=V L EHATET L 7H(H) L 8.8
I EEES ERt=V L= HET 108 (k) IS 5.2
29 |FFE =V £81Lh H A0 BT 1H(N) A& 8.1
30 |FFE =V BT E A LB\ [ 22H (N) A& 5.2
31 |HE =V ERLLF=FHETJIIH | 158 (X) A& 9.1
32 |BE ERt=V HA ™ 22H(N) L 5.7
33 |HE =V — AT TH(A) A& 7.6
EESES =V EN=N 2H (7K) A& 7.4
35 [BFE ERt=V = 15H (N) L 4.2
36 |FFE Y143V () |BlLUm=EHET 10H (K) A& 15.2
37 |HE Y43V () |BUm=#EHET)IIEH]| 158 (X) A& 16.3
38 |FFE JTHAE BLLTERETZHEF | 8H(N) A& 9.0
39 |FFE JTHAE BB LT AHRET 2H (7K) A& 8.9
M EES JTHAE BB LT AHRET 3H (K) A& 11.0
NI EES JTHAE EBILUMEAHBIEHE| 8H(N) A& 7.5
Y ES EXF 8L -E T Z HEF | 10H (OR) T 16.4
I ES EXF BB LT AHHET 7H(B) L 10.5
MEES EXF BB LT AHHET 148 (B) IS 10.2
N EES ExF BB LT AHRET 24H (K) A& 7.3
TEES ExF EBILUMEAHBIERE| 8H(N) A& 8.7
NREES EXF BT EANET LS [ 10H(K) T 10.0
B ES EXF L EHATETSFLL 8H (N) IS 12.7
I EES ExF 8L HAOEET 11H (&) A& 14.1
FESES ExF ERLL=FHETJIIH | 158 (X) A& 9.1
S EEES X+ HA ™ 22H(N) L 16.1
A ESES X+ A= 2H(K) T 13.5
B ES X+ A= 15H (N) L 10.6
54 |BFE Iy BLLTERETZHEF | 8H(N) A& 9.2
55 |HF3E Iy EBILUMEAHBIERE| 8H(N) A& 7.7
B ES =P L EHAET L 4H (£) L 7.8
Y EES NS A LU 3H (K) A& 1.4
58 |FFE NS A LU 3H (K) A& 8.9
59 [¥p% NI BLUmzEvENNZFE| TH(A) L 8.4
60 |[FF NS A LT ERETZHEF | 8H(N) A& 6.9
INEES NS4 BT ERET Z H%F | 10H (K) A& 4.7
62 |FFE NS A BB LT AHRET 2H (7K) A& 4.9
63 [ NS A BB LT AHRET 3H (K) A& 9.9
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BRHEETEFOMGEREER GEREXLF1—L4) 2/4
REHR ¢ ERRTE12ZBT1H (N) ~FR27F12828H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
[EES INIYA BB LT AHRET 148 (8) A& 7.1
65 [ NI BB LI T AHET 21H(8) T 8.4
66 [ NI L EHATET L 4H (&) g 7.7
67 |FFE INIYA 8L = HET 108 (:K) A& 7.4
68 |[FFx INIYA BB E A LB\ [ 22H (N) A& 6.9
69 |[FFx NS4 LT =FEEAT) I | 155 (N) A& 6.1
I EES NI HA™ 16H (7k) T 5.4
EES NI HA™ 16H (7k) T 3.9
[AEES NI HA™ 22H(N) T 5.9
EEES NIHA N N 7H(H) IS 4.7
IMEES NI A= 2H(K) T 6.0
[FEES 70w 3a)— |EIUmEXAWLEIALE| 22H (N) A& 11.8
EES 70y Y — B =#EHET)IIEH]| 158 (X) A& 15.0
77 |5HE wRoLVYD 8L AT AT LA TH(A) A& 14.7
78 |BFE whoLVVD EIUhPAHBIERER| 7TH(B) A& 15.6
79 |FFE wRoLVYD BB E A LB\ [ 22H (N) A& 10.8
80 [¥FE JHEE ERLL=FEAETILO | 268 () L 10.2
81 |k Girk. B=k=) |/KEIK 8L LTH AR 1H(N) A& 8.1
Y NERERR 1PEEL 8B/ NEFHT 14H(B) 96.8 9.2
83 [l FEQHE[IAUXFIYT [EFEBARN 1MH (&) 23.0 12.6
84 [IIEE-=DCFE|ESHT BLUTHHENITAZES| 3H(K) L 13.4
8 (|IE-TDCFE|ESHYS LU EHBTESE] N | 148 (B) 17.2 1.4
86 [ -=DCiE|[7F/ kD a8)lm 9H (7k) IS 8.9
87 [E-FncH|7avr~vsr @) |BAm 218 (8) 13.4 8.8
88 |lUE-FnZFE|(LF55 (70) |ESLLTHAHIET 1H () 23.9 8.3
89 |EN7E JIITE (Zn) BT ZEIERIRRE | 10H(K) 22.9 13.1
90 [R=E kS LT 14H(B) L 9.0
91 |R=E ks I =E=] 8H (N) 4.6 4.5
92 |R=E kS G =E=10] 8H (N) T 4.1
93 |R=E kS 8L HAOERH]T 108 (:K) A& 8.6
94 |R=E hUv EBLLI T AHIET 9H (k) L 11.1
95 [R= F4 EBLLI T AHIET 10H (K) IS 7.9
96 [R=E F4 L EHATET L 4H (&) IS 11.4
97 |R=E F4 BT EANET LS [ 10H(K) T 6.5
98 [R=E F4 BT EANETARES [ 15H () IS 7.9
99 [R= F4 BB PR T 9H (k) L 9.3
100 [R=E F4 B L FAEHETAHMFE | 16H (k) L 6.5
101 |R=E F4 8L HAN AT R | 17H (OR) IS 7.2
102 |R=E U4 EBLUHHAMERESE]| 2H0K) 7.7 7.5
103 [R=E F4 LU BEMNHEEISE | 28H(A) IS 4.9
104 |R=E F4 BLUBFEAMAEBNATE| tH(Z) 141 6.4
105 |R=E I+ BB E A LB\ [ 22H (N) A& 5.4
106 [ER=E Fo« a8)lm 25H(£) IS 6.4
107 |R=E F4 HA ™ 10H (K) T 8.3
108 [R=E F4 HA ™ 10H (K) T 10.1
109 [R=E F4 mE™ 25H (£) T 8.0
110 |R=E a1X SRERRA 4H (&) 27.0 8.5
111 |R=E 11X B hZ 150 9H (7K) T 11.4
112 |R=E dX BLUh B4R | 26H(K) T 9.4
113 |R=E 11X L= LU 1H(N) T 6.8
114 |R=E 11X BB LT AHRET 2H(K) L 10.3
115 |R=E 11X BB LT AHRET 10H (K) T 10.4
116 |R=E a1X BB LT AHRET 14H(B) L 10.2
117 |R=E 11X BB LT AHRET 22H(N) L 12.9
118 |R=E 11X BB LT AHHET 22H(N) L 9.6
119 [R=E 11X B8 LT EHATET ) R 3H(K) L 9.9
120 |R=E 11X E31LLh HAN BT 15H (N) L 6.8
121 |R=E 11X BUBEAMABNATE| tH(Z) 11.5 6.9
122 |R=E 11X HNE=FH] 1H(N) L 8.5
123 [B= 11X WNEEESARERT 4H (&) 440.0 10.3
[IPEES PP SHEsLAIT 3H(K) L 12.3
125 [B= Yy 3 LU= A LLB] TEIED) L 6.6
126 [RB= PP mE™ 1TH(N) L 8.9
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BRHEETEFOMGEREER GEREXLF1—L4) 3/4
REHR ¢ ERRTE12ZBT1H (N) ~FR27F12828H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
127 [B=E PP=) mE™ 4H (£) T 6.7
128 |Z=oDfth S3cE EBIUHmEAREEA| 9H (7K) A& 7.5
129 |Z0Dfth S3cE BLUMEAHIREMRE| tH(2) A& 6.6
130 |Zofth S3cE BLUMEARHIREMRE| tH(2) A& 6.9
131 |Z0fth S3cE LU HAERET#ER | 21H(B) A& 6.8
132 |[Zoftt S3e=E LU HAAEEISE | 10H (K) IS 7.1
133 [Zoftt 52 LT 3H(K) T 9.0
134 |[Zfth 52 BB 4R 8H (N) T 8.7
135 [Zoftt 52 BLUmhEEIHEL | 1HCK) IS 7.0
136 |[Zofth 52 ELLERHETZHE | 14H(B) IS 8.4
137 [Zoftt 52 G =E=1:0] 1H(N) T 5.5
138 [Zofth 52 G =E=1:0] 1H(N) T 5.5
139 [Zofth 52 BLUHHNTEE 3H(K) IS 7.1
140 |[Zofth 52 BB AT | B 3H(K) T 6.9
141 [Zoft 52 BLUTHEHNEHEER [11H(E) T 5.4
142 |[Z0fth 552 BLUTHAABNTE| 4H(&) IS 6.4
143 [Zofth 52 B8 L =FEEA]T/I1H | 10H () IS 7.8
144 | Z0fh 52 BT =FE AT\ 1% | 16H (0k) IS 8.3
145 |[Zoft 52 HANE =&FH] 145 (8) L 8.0
146 |[ZDfth NG ELL-ERHETZHE | 1465 (B) EN Y 8.3
147 [Zofth NG BLUTEAMABENATE| 4H(Z) 5.7 5.6
148 |[Zfth NG BT =FE AT\ | 16H (7k) L 8.5
149 |ZDfth NSEhA LU 24H (K) A& 8.7
150 [Zofth B oL 21H(B) 108.9 8.6
151 [Z0fb BA LT N EHT 17H(K) 153.7 6.3
152 |20k R BLUHEENSE |[11HEE) 513.5 17.0
153 [Zofb BA BLUHEEINSE | 28H(A) 133.0 5.6
154 [Zfb BA ELUhmEERT K]l [14H(8) 343.8 10.5
155 [Zofb BA ELUhEERT K] [14H(8) 373.0 9.9
156 |[ZDfb BA ELUhEERT K] [14H(8) 154.6 6.5
157 [Z0fb BA ERLLHEERT K [ 15H(N) 551.1 7.6
158 [Zofb B BLUHEEBITRE | 22HCN) 228.2 4.7
159 [Zofb B S L EERT L 7H(B) 276.6 5.4
160 [Z0fb BA ELLTERETZHEF | 9H k) 72.7 5.2
161 |[Zfth B ELLTERETZHEF | 9H k) 558.6 5.1
162 |[ZDfth B ELLhiAmeThE | 28H(A) 317.6 5.3
163 [Zofth BA (an) G ) 8H (N) 108.9 5.8
164 [Zfb BA (an) ELLTERITZHE | NH (&) 244 .3 8.4
165 [Zofth BA (a0) ELLTERITZHE | NH (&) 146.0 7.2
166 |ZDfth AV VR X B ERITZHEE | 14H(8) L 8.3
167 |[Z0fth BT SRERRA 9H (k) L 8.6
168 [Zofth Bt LU E A LT 9H (k) IS 7.9
169 |[Zofth T3V ELLT-ERITZHE | 215 (B) IS 10.2
170 |[Zoftt h¥ (K) I LTHFAEBTRER| 1H(CX) IS 18.8
171 |[Zoft HF (EEHE) BT aE 16H (7k) 12.3 9.7
172 |[Z o0t HF (EEhE) | HANEE] 10H (K) IS 7.2
173 |[Zoftt BB ELUTEREIDTA [ NHE) 14.8 10.6
174 |[Z 0t MR HNE =&FH] 16H (7k) T 9.7
175 |[Zoftt 52 B =FEHAETE=E | 2H (k) IS 5.2
176 |[Z0fth RERY LT EHT 8H (N) 183.0 4.6
177 |Z0fth REN EBILUmEEE TMFEFEE| 2H(0K) 107.0 4.3
178 |Z=Dfth o US4 (188) B EETFE]] 7H(B) A& 8.1
179 |[Zofth 2 BLUmhEEITHEL | 1HCK) IS 6.8
180 |[Zofth 2 LU ERETZHE | 1465 (B) IS 8.5
181 |[Zofth 29 BB LT AHHET 16H (k) IS 8.3
182 |ZFDfth £g BLUMEAHIREMRE| tH(2) A& 6.0
183 |[Zofth 2 BLUHEAAEERER| 16H (k) L 9.9
184 |[Zofth 2 L HANHRETHR | 21H (B) L 5.4
185 |ZDfth £g LT HAEREETSE | 10H (K) A& 7.0
186 [Zofth 29 8L =#EEA]T/ I | 10H () e 7.8
187 |Zofth d0%54 (188) |ESLLUTHENETER 1H(N) e 11.4
188 [Zofth INE LU EHNETER 1H(N) L 7.7
189 |Zofth Kb BLUMmEAHRHBIEHRE| TH(A) A& 11.4
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BREETRFOMNERERER GHRIEXL 1 —L4) b/4

REHR ¢ ERRTE12ZBT1H (N) ~FR27F12828H (B) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . BHRARESET
190 |Zofth P AT EBILUHmEAHBIEHRE| 8H(N) A& 13.5
191 [Zonft vY~1 (5zi%) BT HANEET 25H (£) 1929.4 22.3
192 [Zofth A= BB LT AHHET 3H(K) g 8.1
193 [Zoftt A= BB LT AHRET 24H (K) g 7.0
194 |[Znfh A= BT ENETARES | 22H (X)) IS 6.5
195 |ZDfth A2 8L HAOERET 1H(N) 12.0 5.5
196 |[ZDfth A= 8L HA0EHET 18H (£) IS 1.7
197 |[Zonft A= BLUHEALLBTRER | 24H (K) IS 8.5
198 |ZoDfth “F 1V X LT ERETZHE | 14H(B) A& 8.5
199 [Zofth NFZY WNEEEN = [ BT 21H(8) 7.8 5.4
200 [Zofh T L 145 (8) IS 10.4
201 [Zofb T BLUh =54k 2H (7K) IS 10.9
202 [Zofb T BUmhZEErE/ll [ 1550 IS 7.3
203 [Z0fs T BLUmEVEITRE |[14H(A) 19.7 4.8
204 [Zofb T BB LT AHRET 145 (8) e 11.7
205 |[Zofh T BB LT AHRET 21H(8) IS 6.0
206 |[Zofh T BB LT AHRET 21H(8) IS 5.7
207 [Zofb T BB LT AHHET 28H(B) IS 1.7
208 |[Zofh T BBLLITHRERL 10H (K) T 9.5
209 [Zofh T BBLLImh A ~FET 24H (K) EN Y 10.2
210 |[Z 01 i EBILUHmEAHBIEHRE| 21H(8) 26.5 7.2
211 [Zofk T BB ERA 9H (k) IS 11.5
212 =0k T EBILUHHENTSE | 18H(®) IS 6.1
213 |20k T BLUmENELS [11H(E) EN Y 5.6
214 [Z0fb T 8L LT EHATBTECH | 158 () IS 6.5
215 [Zofb T L= HET 10H (K) IS 9.8
216 |20k T L vt THCN) 45.2 12.4
217 [Zofb T I LTHFAETRER| 115 () IS 9.0
218 [Zofb T LU BEMNEAEEISE | 16H (k) IS 6.8
219 [Zofb T B =FEMHAT/IIH| 2H(K) IS 9.9
220 [Zofb T 8L =FEEAT/ I | 15H CX) IS 8.4
221 [Z0ft ¥ A= 16H (k) IS 7.9
222 |[Zofs i oL 22H (N) IS 8.6
223 [Zofk PYRU a8)lm 22H(N) 52.4 3.9
YIS K (XK) SEEIT 3H(K) IS 8.0
225 [H2TEEEXK K (ZXK) B8R e {CHT 22H (N) IS 5.8
226 [H2TEEEX X (BX) oL 4H (&) IS 8.0
227 [HTEEX X (BX) LU EANETEE] | 145 (8) IS 7.9
228 |H2TEEEX X (BX) LU BEMNAEIISE| 1HC) IS 4.5
229 [H2TE =X X (BX) HA ™ 21H(8) A& 4.8
230 [H27TEEEX X (BX) LR 3H(K) IS 8.0
231 [H27TEEXK HBEX (BX) |[LWbEm 28H(8) IS 8.4
232 [HTEEXK HBEX (BX) | K= 1H(N) IS 5.1
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